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1) mooin
a) onwran
1) o°12°R7 07 that remains in its initial location is an»
i) Here’s proof

(1) The xx in P2 noon says that if awa that was 1931 is cut over bread the
bread is mox even though the w2 is ann

(2) it’s ynwn that the xn3 deals with awa that wasn’t 137% 95 17521 and retains
o7 and the bread is m1ox because o7 drips on the bread from the “wa

(3) So it must be that
(@) the w2 itself is 7nn because the o7 that it retains is “0*12°% 07"
(b) and the bread is mox because o7 was w1 from the w2 onto the bread
2) X"wann
a) owoon W
i) the &322 in P21 noon doesn’t prove that 2°12°K: 7 IS MK

(1) The xn3 deals with awa that in fact was 157 %2 179%1 until no a7 remained
and that’s why the aw2a is anmn

(2) The bread is 7oK — not because a7 dripped on to it — but because
onlookers might mistakenly think that o7 had dripped onto the bread
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1) First nnipn
a) Xn»H% means a 7w or an AW that’s filled with raw awa and is then 75x:

b) noo j27p is similar to Xn»1n because it’s filled 127p %31 1375 H¥ wrn Yy and is then
Pratel

2) Second nnTpi

a) Xn»H and nod J27p are 177X even 17°1n3° because the *5x process causes T2 W12
we — the 750 or A is vd whatever a7 it was ¥71a from the filling

3) Third 7p7 — w2 23 5y 720
a) XImxin P2 noon

i) If 720 is 7%%1 while it lies over awa the w2 is 72¥>72 7w> even though a7 from
the 725 drops onto the wa

i) Because p>aw pawn o7 —the "% process causes the o7 to slide off the =wa and
not to be ¥%21 in the Twa

4) Fourth npn

a) Pw pawn is a better basis to assume that there is no remaining 7v°%2 of a7 than
091D 79 WD

b) Because mw pawn assumes that no o7 was ¥221 in the first place while 7515912
WD accepts that o7 was ¥921 but assumes that in the end whatever o7 was v221
was 1991

5) Fifth anpn

a) For areason not relevant here p>aw pawn doesn’t apply to filling-type cases such
as Xxn»7m and oo 2P

6) Mmoo as explained by X"wann



a) Apparently m»oin asks

i)  Why doesn’t the X1nx for awa »23 Hv 723 rely on w91 75 w120 as the reason
that the 2w2a is "

b) And apparently nm»oin answers that
i) A ni based on 1219 72 w25 is weak and can be a°ni only 727
7) R"wann

a) This 721 isn’t correct because even with the stronger 2°n» of P w pawn the ani
of the X for awa »23 %v 725 is only 72v>7

b) Instead this is what mo01n asks and answers
i) Xwp

(1) Why is it that for mwa »ax 5 725 the 7wa is °nn only 72v°7 even though the
strong °ni of P w pawen applies

(2) While xn>%1m and nos j29p are "min even :317rno% although their an> is
based on the weaker an°n of w219 75 w2

i) v
(1) The 1>7 for 725 is X m7> because 723 holds large amounts of o7
8) Twnn of maoin
a) Nwp
i) nooya7p s filled with 725 and yet is 7%nn3% AN
b) y1n
i) The moo requires that the > be 127p 31 vy93 51 WwRa HY
9) Twnn of X"wan
a) Nwp
i) Then how is it that the xnx derives from noo 1297 that Xn>>%1n is 771035 AN
b) v

i) once we know from the oo that based on w719 72 w25 the filled noo 1290 is
7ornoY i despite the 723 that’s included in "aap"

ii) it’s 7anon that xn>>7 11 that includes no 723 is 7%nn3% Ann based on 75 1Ww725
pieirab)

10) qwni of mooin as explained by R"wAmn at 0o 1155 w782 — apparently X"wann here
has in mind what 7oy n°a says at 'k "o 1"'v 11°0 7¥7 77 M0 based on the w"k1 —
review the o1 n°a and %2 >xw1a for further 7802

a) if the nxonn 7w2 and the o°1957 "wa of the 7%V or the 71y were both n%n1 the awa is
aw> even without relying on %1 72 912> based on

i) "™n2157 112 Y9237 03 v 1T T [PRen] vreT SR



b) But where there was 73121 only for the 1x°n and 77°%n *75 77w so the N¥°r is no
longer 7710 to be v9 its own o7 the wa is still 75032 0 based on 12 w122
M9 1M ¥9AW 71 0D 70 NI
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1) mnpn

a) We established in the prior 112>7 that Xn>>5% may be 7531 even 7%nna% because the
"X process causes 11 73 w125 — the 7%v or 7w is v whatever o7 it was ¥,
from the w2 with which it was filled

2) XnUM2

a) M7 DR ORI WP 29

b) Y2wea R WP WP RS
3) X

a) noRw

i) Must it be that the xn»12 by "7 w2" means *7% and it’s because 10719 72 W72
that we’re not wwhn that the 2% is ¥12 the o7 that’s inside it

b) nawn
i) Not necessarily

(1) It’s possible that "7w2" has its usual meaning of cooking in a 771>7p so
W9 72 w23 doesn’t apply at all

(2) And the reason for the 2> is that the inside of the 2% is ¥>w — smooth —
and isn’t ¥712 at all

4) nmooin as explained by X"wAan
a) Nwp

i) But why wouldn’t the xn>>72 be ww1n that the 2v1n in the 79>7p carries the o7 to
the outside of the 2%

i) Must be that the xn>22 does deal with *%x and relies on w21 72 w25
b) v

i) Not necessarily because we see that the outside of the 2% is in fact even more
y>w than the inside and it isn’t ¥712 from the 21 when there is 777p2 9Wwea
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1)

2)

3)

4)

5)

P'IYTY TN ORI 11TT 211 11D MDY 195NN IR OUD AY0D PINDRT NXMIN
P
a) "N¥mR" means raw w2 that isn’t 7913 Or HWan1 or 791
XM
a) Partl
i) 9P RAR 277 70IR K127 IRDXY RIDAK PNARY "ONM P ORT RN
ii) The basis of this np12rn isn’t relevant to this X"w"mn
b) Part2
i) ®o7 of >"wa —"mox "on"
ii) xo7 of mooin — "PaoR VHm "
"1 according to "R1INR RIwD"

a) "pmoxT X¥MX" both in part 1 of the X3 and in part 2 of the X713 means k¥ that
was made red by a 7on while the 7nn2 was still alive

b) Part 2 of the x 1 deals with xxmx of part 1 that after it was 17%%1 was placed in
Xon —vinegar — and teaches that even &nx 27 who is %p>» in part 1 holds that “%n
7108 — namely the x>r becomes T1ox from the o7 of the Xk but the XX itself
continues to be ann

mooIn
a) First xwp to >"wn

i) It’s yawn from w2 53 P that Xom is nonen and seals off o7 in 793w w2
b) Second xwp to >"w"

i) It’s yawn from wan 53 pao that if Xon becomes ox the xx»x becomes 7oK as
well

R"wn
a) y1nto the first x°wp of mooin

i) X¥mIX that was ps»eR is v219 more a7 than it can be nonxn
b) xwp to the second x°wp of MmooIN



i) Toanswer the second xwp of mooIn it’s not necessary for nMooIn to rely on the
new v w of maoin that we’ll set out below

i) Instead it’s enough for maoin to say that the correct xo7a in the X3 is X7
710K oM

6) nmoon —a nvw in the X na that doesn’t follow the 7271 of >"wA

7)

a)

b)

c)

part 2 of the x 13 doesn’t deal with raw wa that was made red by n»n2 non and
was later 77x1

instead part 2 deals with raw unreddened meat that wasn’t 751 and was placed in
v while still raw

now

i) If *nnwx XY and the x¥mx is removed from the xon quickly before the k¥ is
PRDNR

(1) We know that the o7 is n»x1 and remains in the xxmx
il) If snnwex and the XXMIX IS pnoXR

(1) We know that the o7 is no longer n"»x and assume that a7 was v>s1 into the
x>r and was then ¥%21 again into the 7wa so that both became mox

(2) and since both the awa and "%r are Mox we’re 0 that Mox om Xin

R"wAn

a)

b)

d)

ToRY

i) For the nu>w of m»poin what is the meaning of pnoox in part 1 of the X na
mawn

i) now of w"xn

(1) part 1 of the xna also refers to xxmx that was prnox by being xona “nnwn
and xnx 27 and X127 deal with whether the xxIx can again be made “w>
by being 7mn it and being 791 it on XM

mw of

i) Part 1 of the X3 deals with x¥mx that was previously Pnoxr by nnia non the
same as in the 7w of *"wA

X"wnn prefers the nvw of w"R
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1) xp™Maat:oA7

a) 21 says that no is mox if it’s 7983 in a 7an that’s heated with 757y *9°%p

b) The no isanm if "o°%na 223 5y nowa" of 75y o%p
2) X at.1o A7

a) npomn

i) One 7nxT 187 says that the 2017 for o>%na applies only to mnmy o°ona that burn
weakly

i) Another &7 18 says that the an°n applies even to mwm? o¥%ma that burn
strongly

b) xwp
i) if the an>n applies also to mwn? o°%ma in what case is the mox no
c) y™n
i) The nois Mox if 7210 the no there’s a burning 1p1axr of 797w *5°%p that are 1°v2
3) & max here
1) XWX by *1°X 72 X10m 29

(1) Would »21 be n» 70 that was 71981 in a 70 by o that remained in the
7110 after 797y °9°%p burned there and were 7173 from the 7in

b) n2wn by 7208 72 RIR 20

10



i) 27 would be 7°n» the nd
4) mooin
a) Nwp by "2 to the X°va°x of *7°Kk 92 R’ 20
i) Presumably even the o1 of mnmw ov%na is greater than the o of 9173 2n
i) And
(1) since xnby *710 agree that no is 2 if Wwox on Mnmy ooona of 9w

(2) for »27 it ought to be a 10w 5 that there is no 1777y Mo°x for no that’s 7oK1
in the o of 7173 7N

b) vrnby ",
i) The amount of o1 isn’t relevant to the X°v2°x of *7°Kk 92 RX11°17 29

ii) no that’s nox1 with the o1 of o°%ma in a Man is 1mn because the o isn’t
generated by an Pya m0°x but by o°%ma that are &n%y2 X0y

iii) no that’s nox1 with the o of 7173 70 might be 7o (depending on how we’re
v the X°va°R) because the o1 was generated earlier by np1axi nanbw that
was an va Mo

c) xwp of °"1 as explained by &"wnmna at ap1ara oM 782
i) We established earlier that no that’s 77981 by an 7p1ax is &nHy ¥910% MoK

i) We just pointed out that ;113 7110 o7 was also generated by the nanbw of
burning y¥a mo°) the same as the o of an 7p1aR

iii) So
(1) why does *7°& 12 X111 27 even consider that nd is 9 if it’s 7OX1 in 1IN
Q)b
(2) and why does 1278 12 &78 21 decide that the ns is ann
5) %"wnnn
a) xwp to the xwp of mooIn

i) The x7nx at .15 77 says that no is Mok only if the 7?1ax is 17212 and is present
when the ns is being nox1

i) while in a 713 1an there are no burning moex >xy that are 71> the no since by
definition the 210 was 7173 before the no was noR1

6) R"wonn at aparT om 7R
a) 117N to the x°wp of H"wan

1) The rule that for ns to be mox the 7P12x% must be 17310 applies only where the
no is being 7981 without a "N

i) see X "7 R"wATn at 0 a7
7) C"what oA

11



a) Since xnHy "3 are a7 that no is anwa if 0¥%ma 223 Hy w2
b) 10w %> that no is ann if it’s 7981 with the o7 of /173 7N
8) X"wannat v "7
a) Nwp
1) °"w" obviously doesn’t agree with the fu*w of >
i) How does >"w1 explain the x°va°x of *7°& 92 R1°17 29
b) v

i) "wn applies his 10w %5 only for the K7 18 who says that the no is a0 even
if it was mox1 with mwm® oo%ma

il) 7R 72 R1°1 27 asks his &°vacx for the 9nx7 3871 that 27 is 7°ni the no only it
was 71981 with Ny oo

9) xp™M32
a) "7 says for noo j27p that o>%na count as wx and 713 M0 doesn’t count as WX
10) qwnn of X"wnn
a) Nwp to the qvw of °"
i) The mn2o are mo1w7
(1) For ao>w

(@) »7°x "2 R1°1 27 1S *va whether ;13 1IN counts as wx while o°%mx don’t
count as wx

(2) For noo 120

(@) a xn»a teaches that 7173 70 certainly doesn’t count as w& while o5
have a wX 777

b) v

i) °"1can agree with >"wA that >7°X 22 X111 21 says that »27 for 777y *9°%p holds
it’s only mn»w o°ona that don’t count as wx while the xn>92 for nos 297 deals
with mwm? o*oma

12
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1)

2)

3)

4)

5)

6)

TH'"mY NI 20

First 7a7pn
a) 'RRP™M?2

i) 21 holds that o>%na for nos count as wx *%x even without a special »12>
Second 7P
a) 'axnr7a

i) °21 holds that o>5na for y71¥n mon count as wx *%% based on a special »12°1
Third 7P
a) 'axn»iaat A7

i) 27 says no is nn if "oooma v By ahwea" of Ay oop
b) X at.oa7

i) nponn

(1) One 2T 181 says that the an»i7 for o°ona applies only to nmw o*%na that
are weak

(2) Another &7 187 says that the an°i7 applies even to mwm?® o°%na that are
strong

Fourth nnTpn

a) In the prior m12°7 we established that >*7°k 22 X11°1 27 agrees with the anxT 87 at
.12 77 that the an°i7 for o>oma applies only to mnmy oo

R plah!
a) Nwp by 7Kk 27K "M

i) Why is it that for y718» m>n we need to rely on a special 12> that 2°%mx count
as wx but for nos we don’t need to rely on a special »12>7 that 2> count as wX

277 IR X7 3"7 NDOIN
a) Nwp
1) Why doesn’t the X3 answer that
(1) The w5 of o°pos and of M2 aren’t MW

13



(2) The poo of mon deals with mamy o°%ma and that’s why a »1277 is needed to
teach that the o°%mx count as wx

(3) '& xn>92 on noo deals with mwm® o°%na and that’s why no "12°1 is needed
7) H"wann as explained by X"wonn
a) Nwp

i) How can nooin suggest that "o°%ma" in mn»0a refer to mwm?> o°%na when
we’ve established that *7°x 72 X1°11 27 says that *27 in 3 kn»92 refers to 2°om
mnny

ii) so it must that the W of a°mos is the same as the w2 of M2
8) X"wann
a) v1°nto the x>wp of 2"wamn

i) mooin asks that *»x 92 »17nK 29 can disagree with >7°X 12 X1°n 27 and hold that
the w5 of 2°p109 isn’t the same as the 17w% of mn»™2

14
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1)

2)

3)

:2'197Y 1701 WRT MIDRR 290w
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79w

XM
a) Nwp

i) Why is it that no vw is needed to teach that 7173 7n for 797w doesn’t count
as wx

i) But a special m1v» is needed to teach that 7173 nan for nod doesn’t count as WX
b) v n

i) The v that teaches that 173 70 doesn’t count as wx for noo is 72an also
that 7173 7110 doesn’t count as wx for 757y

mooIn
a) Nwp
i) Why is it that a special v1vn is needed to teach that 5173 21n for oo doesn’t
count as wx
i) While a special m12» is needed to teach that riny7 o031 7°0 for mon do count as
R
X"wann
a) Nwp

i) mooiwn also should have asked that

(1) Why is it that a special v n is needed to teach that 7173 710 for oo
doesn’t count as WX

(2) While no special v n is needed to teach that nny1 0°0931 7°0 don’t count as
wx for powig oo

b) yyn for the n»wp of both msoin and x"wann
i) Similarly to the y17°n of the X ma

15



(1) The vyon that teaches that 7113 710 doesn’t count as wx for noo is 773 also
for both m>an and w317 219 that nn11 ©°0931 7°0 don’t count as WX unless
there’s a special 12"

c) Nwp
1) Once for mon we have a »12°1 that nma 020921 7°0 count as wx
i) Then for powis om»
(1) why do we derive from nos that 11 ©°0931 7°0 don’t count as WX
(2) when we can derive from 7157 that nmn 00931 7°0 do count as wx

16
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WY DR N1 IPRT WA TR AWM PR DR IND 2R M TR N
A1 TAYIY 792 IO TIDRD O RMOIT KUK NININAT Y90AMA ORI 720N NOR TDND

227 NN 17 'D2Y RO YWD awh 51 T 1o MR N

D% 119577 B''oy NYAN WK anon® 2''T M2 AwNT "0 NN wRa 772 MsoIn
N1297 IRDT 219 DR NI02D NN 2ONDT I PIOAT INAD DaR RN 70T ORR
'™y R

1) x7m3 as understood by >"wA
a) a"ax hw ano is used for now for a 170 N2
b) First xwp
i) why don’t we use mar °7°an that are actual wx
c) 11N to the first x°wp as explained by >"wn

i) By mw 17°1x we derive that o»p 7131 nnwi nosw — for example H2x 5w 17720 —
also counts as 9w

d) Second xwp
i)  Why not use primn where there is also o>p 7m 7wl no™w
e) ynof yaman
i) "m0 9¥1% nanxy" teaches that 79° o 1% M2
2) 2"waan
a) Nwp to "wn

i) When the &3 set out its y17°n to the first x>wp the & nx didn’t yet realize the
7170 of 1mma 2

ii) So
(1) even after we know from the y19°n that 2»p 1 fnwi 9w also counts as
oMW
(2) we still don’t know why we don’t use wnn wx with mar *2°an

3) R"wann

18



b)

d)

717°n to the x°wp of H"w1nn

i) the 370 mistakenly assumed that the ywpn knew the nv>w of yama 27 that 12
797

il) that’s why the 1xn thought that once he mentioned that o»p 1913 also counts as
now the ywpn would understand himself that wxan 913 no>w by mmar *9°an
can’t be done because it’s not a > that’s as 79° as 79°7W by "ax YW 77200

Xowp

i) From the fact that the ywpn asked in his first X*wp that why don’t we use °7°an
manT

i) Why wasn’t it clear to the j¥7n that the jwpn wasn’t aware of the 17 of 1am1 29
that 712> 71n° 1% 112

v°n

i) The 1¥7n thought that the ywpn» was aware of 719> inon 12 1112 but that the 7
didn’t apply because the 1n°» needed qan no>w

Xowp
i) But the fact is that the jwpn didn’t know the 17 of 1am1 29

i) Why didn’t he respond to the jx9n that the y17°n to the first X*wp doesn’t
answer why ma1 °2°ai7 isn’t used in place of 72K Hw 77°n9

'aRls!

i) The ywpn preferred to ask a x*wp that more directly attacks the essence of the
YIvn: if op 9 anewl now is valid why isn’t Prin used since also with
7mA there is 2P M3 nw: noow
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1)

2)

3)

Ny T

MmN X 2T M'wN

WR YOMIA 2N "D 2v0ma K2 NATHR RN "D MaAR MWK 772 " whana [2 TRy Y 0T
DRI 299MA2 NATRR 770 P17 N1 MAR RWORT PR D''OY RNTMI Nanhw cuwnb
TN TR YD TIUENR T XD D'RT 9191 K20 7OV DT KT 9 2PN KDY 12972 N
N2 RRAPINTSY 299732 DAY 11T NAAPW D12 RNMN22 NPT KON RI2° NS
2T
l¥akkinn)
a) "manan Syn WK SHna anman 89 1700 npn"
1) xw™M
(1) »29RT MWM? KPYT X217 WK D 7000 WOHRPT My 1o
i) X9°0
(1) °2m3 12 TN AT 910 WK OR
\ulabs
a) "0 by »ax of the &9°0 of the xn»92
1) be an the x5°0 to say
(1) if the mo» had said only "wX" we’d have said that

(@) the 72 can take either a nan%w to which the expression "annnnm Xon"
doesn’t fit

(b) and the mo» says "nnman Xon" only to teach that the 375 can decide instead
to take mwm> o°om

(2) That’s why the P05 needs to say "wx soma" to teach that the 175 must use o°%m
mwm?

b) xwp by 837 to »ax

i) Even if the moo had said only "w&" we’d have realized that it’s not right to offer a
nanhw since "om w2 Ton 197 Xnwa"

c) yrnof xan

i) the xn»91 in the x5°0 means that if the mos had said only "w&" we’d have said that
the 3715 takes 12172 7% nxw IR to which the expression "nnmnn k91" fits

ii) That’s why the 7105 needs to teach that the 773 needs to use mwm? °om
R"wann
a) Nwp

i) Maybe when »ax says "nan>w 7150 wx °X" he means — somewhat similar to 827 —
that the 3775 can bring a nan>w in the sense of 12172 X NXIWw 2%

20



i) And this would answer the x*wp of X29
b) v n

i) If this is what »axk means there’d be no need for him to say that the 372 can also
choose to bring mwm? o°%na since the words "nnman x9a" also fit with nxaw ovona
12772 X

21



Ay QT

xn7vwa a"1n

SONI 19K TODT 5745 933 XYW 7D ARY 15 KEADwa 1172 '0W [R TNy W 07
TIDWD 7% ANTR AODIT PONRT SN2TH AR RO KW 7 5oy "5 TIDWT nnan
223 RO 71D 27272 WP D K17 2RI 705D 790 NanY TIDWT 97T avnaw
7" TIDWR TOYADY UKD MODT W2 WO WEMNI 7057 W2 TIN KT TIDWIT 100

B =y wesh WO TIDWT NN ORI 119K 0BT 1Y 933 SRNNT 91

1) mnpn
a) If one item is orn and the other is 1%
i) 27 says 12x ARy and DR says 1ax aRnn
b) If two items are both aon they’re annn each other
2) mwn
a) MIPn DR W PHR M ARNN RITW 070 2 120177 A0l
3) X
a) Nwp
i)  We understand the ;awn for 21 because "&*1777 273"
(1) meaning

(@) the ar avn is annn the o9 that’s 1% and the ©9r is in turn nnan
(further onnn) the av

(b) and when the avn afterwards returns to the nos 3297 it turns out that
the oo 327 is onnni in part from the oan and counts as 127 nnnn %%
IR

ii) But for Hxmw who says 223 xnn this is a xowp
b) v
i) The mwn deals with a o9 that’s an and >Xmw also says that X397 977

i) It follows that the an o is further annn the av1n and when the 2w afterwards
returns to the noo 329p it turns out that the nos 3297 is onnni in part from the
0717 and counts as TnKR 127 AR oY

4) mooin at xn>wa 77 as explained by X"wann at ®knowa "7
a) Nwp
i)  Why does the xnx in its Xwp to P& 1w assume that there’s no X°wp to 27
i) When we have this xwp for 27 who says 123 &2y and X°37717 777

(1) the 7w on which the nos 127p is 17731 is onnni from the part of the 129p
noo that’s IX?°Y to the Mow and the 7w in turn is further onnn the oo 2P
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(2) so we ought to say pn Nk 20
5) X"wann

a) Note that for the y1°n of the &7na that P& also says X177 177 the Xowp of
mooin applies also to Sxmw

i) the 7w on which the noo j27p is 7531 is annni from the part of the oo 127
that’s 7xnn to the 79w and the 7w in turn is further annn the nos 12p

ii) so we ought to say 1mpn NR 710
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INXT [NN7 XIX D" TN

1D 2WIN2 WO RMIDIN IR WPOR MNPIRT 19D 0 RWPT 21N "D 7R KUK 7''Ta
DT IRNNT 177 R2PY 19197 NINK 07 323 DOPH MIDDINT 1aNow 1R 0B R 0oy
92 TR KD 1719 727 R 22 RO 0O9R 07D noDa hwan d''nRY ovvp 970 yha

H'"PY N N 'oINT WA TRk abna s YR 9T

NIT7 ROWIP ORMY 2R 5oy 15 RI MR 7192 NORT 190 10 PR 7 KD 170D 7R
DN NI 21 NPT ORI 770 D'HRT R''T N YR 21N OPIOKRY TVIR DY
2P'1TY 7102 BOph ansya '0MNT WTHD auInT Rl RN ININ

1) First nnpn
a) If one item is on and the other is 11x
1) 27 says 123 XY and HRMY says 123 aRNn
b) If two items are both an they’re annn each other
2) Second TP
a) mooin at 1an A"y
i) Although Sxmw says that 12x axnn
ii) still in a case of 1% 7% on
(1) the axnn ¥ is annna from the 79°%p 75 7V IR?Y
(2) and the nx%v o is in turn further 79°%p 73 7v onnni from the nxnn
3) mwn
a) IMPR DR PR N0 5V 10D 127P YW 1201 Al
4) xnx according to the xona of PXam 11020

a) We understand the nawn for 21 because the av1n that’s x>y is annn the N0 and
the n?o in turn is further onnn the 2v17 in which it’s 27wn so that the 2v11 counts
as IR 727 nann oY

b) But for Sxmw who says 223 7xnn we have this xwp

i) The n?0 that’s 1% is 7331 the av and instead of 1P Nk ywap» the 17 should
be that "ypn nX 1002 300"

5) mooin
a) onwan

i) "wnisn’t 07 the words "mpn nR 9102 x0°n" because °"wA says that since
123 7xnn there’s no need even for 1pn Nk 70°

ii) And in fact it’s a X°wp why X137 12°27 is 071 these words
6) 2"wonn at Xox 7"7
a) Nwp
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i) We’ve established in the nn7pn that PXmw holds that where the nxnn is 1 still
the x5y is onnn the xnn enough for the xnn in turn to be further onnn the
79°9p 9722 IRV

7) R"wann

8)

9)

a)

717°n to the xowp of "wamn

i) This rule of "Xmw doesn’t apply where the nx?v is n? — for example where the
TR is 21 — and there is no concept of 119°5p *72

Twnn of Mooin at &K "7

a)

b)

d)

717°n of on 11027 to the Ro7a of HXaan 1102
i) 9xmw holds that vapn Nk 9w

(1) not because the 211 that’s 271wn into the n?0 was annna further from the
n?10 and counts as xR 127 nann oY

(2) but because for a reason not relevant here it must be that the 2v17 in this
case wasn’t 197% 95 1x1 and counts as 2°17ax similar to X1 — see .xn a7

XOwp

i) Instead of being 10 the n?10 why aren’t we 9 the n>10 with the av so that
the av11 becomes 1% 95 175x1 and no longer counts as o°17ax

'aRbY

i) This can’t be done because then the av11 would count as anx 227 Ny “Hx
since in the "“%x it will also be annin1 by the o of the 710

Xowp

i) We established earlier that the & nx explains for 21 that in the 7w the N0
becomes mor because it’s 27 wn with v that’s 710X because it’s nnnn "5
X 727

i) Why does the 71wn need to rely on this mox if there is already the ok of
0°172X

X"wAnn

a)

7170 to the x>wp of mooin
i) We’ve established that
(1) in the end we need to rely on the mo°x of anX 227 niann *Hx

(2) Because otherwise it would be possible to be 79 the n?10 with the av1n
until the 2v17 in the n10 is 1578 %5 17731 and is no longer o°37ax
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2y T

IXN? '®n 0" T

720972 KPR MW KD MHT7 D0P2 WABW 72 009 10 IND OR% 1772 [2 Ty W 07
R2Y N2 TORIW RTW TV 23 WD PIPTW RR WO 'O "o P R Rwp
M MWT 'OINT MMATY RTAW TAY RPIT TAYITR AwnT 'Oy nm 1Iob awyn
SINP TAYITY TPNNRT 3D M201 RO7 ORIN ORTY OB 1APD MRPT N7 T0N0D W9IDN
NRNI29 2127 ROR 729977 RIWOS O10 KDY 791005 DOR 230% 3'17 m0ah ROOK 'Manna
A1 91997 72T XD VPIT 921 MDY 297 RNMDDAY TAYITA IBR PIDINT WP N AT

1)

2)

3)

4)

5)

6)

tP'"'97Y 297 XnIRY awn

Rpfab}
a) If nonw awa was 7531 with 77221 w2

i) "7 says the nvinw w2 is N because X°77 X271 WKL X1

ii) 27 says the nuinw “wa is MoXR because X1 kN1 &™)
b) Xm73 w1 v2 RT2W MY Ty
"9
a) The X727 of "% involved a case of 72y>7 because "% is 7°n» only 727
Nigkimin!
a) °&n " and o ' hold &1 &0 R X7 while 37370 ™ says R XN2o1 XD R
b) The &n>>12 uses a b of 7ay°7 for the vw of n7i
lah!
a) °xind

i) "% can’t agree with 7R "1 and >0 " and must follow a7 ™
moaon
a) Nwp to "wn

i) Maybe 2°xn "1 and "o "1 were 10 only nnnob and would agree with 15 that
in a case of 7av>7 the 77 is that &7 xn2°n XY R

b) y1n
i) Must be contrary to >"wn that "% says &> Xn? 1R &> even 121na°
X"wann
a) Nwp to Mmoo
i) Then why does the &3 say that »1% agrees with 777 '
(1) when 77 " uses a 7w of 72y>7 in the Xn>>12 to say Xn? 7 X7 R
(2) while % according to n10IN says 8n? 1 XY K>3 even 721n3°
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b) y»n

i) Mmoo holds that 777> " is 2°nn even 7500

i) The xn>>12 uses a Y of 7av°7 for 7797° " only to teach that 2°&» ' and *ov '
hold that x°57 Xn%°» R even 727

Note that

i) m»ooin anyway needs to use the same 77nn to explain why the X n3 uses a 7w>
of 72v°7 to set out the v>w of ™% in his NP2 with 27

i) Namely to teach the xm2 that 29 holds that x°57 Xn%°» RXm>3 even 72v°7
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NINKN 'NX XX XnA

573 DRT P77 RPINT PIPTR WO 1D 770U 74 D' 2ORPY NAYN V10N RRN RO
2IMPY NN 217 PRIN PR 27 1BR AR RPT 1PDI3 NAYN 2 DT a9
25! mY BT WY 97A2 "IBR DI NAIYN 77192 NORT 'TIREND 10 RPYoDT &'

1) mnpa

a) 17 holds that X7 X0 WY R
2) Xn»™2

a) 1211 >73 19°DR) NN 2191 TR OO0 NI PAX PR
3) X

a) Nwp

i) Presumably the xn>92 holds that x> Xn%°» &7 so if oonoD "W are TIRD 7931
there’d be a o»yv n21wn that would result in nos being 1117 Xow Hax1

ii) thisis a xwp for "2 who says that &> X0 RS &>
b) v n

i) the xn>12 holds &1 &Xn%°n X7 &> and isn’t w> i for onyv n2wn - instead it’s
w1 that there might be 191 navwn and o°%va might not remember which 3297
they brought

i) Here’s proof

(1) The xn>>1a says it applies Y2958 where one 1297 is a 7%v and the other is a
!

(2) We understand the 1w of ¥o°ox if there’s a wwn of 1913 n21wn because
then the &n>>12 teaches that we have this wwn even where one 911 is a 77v
and the other auis a >7

(3) But if the wwn is onyvw nawn it’s irrelevant that one is a v and the other
IS a7

4) X"wnn at nnk R XOR "7
a) Nwp
i) maybe

(1) in fact the mo°k in the xn»92 is based on o°nyv nAwn because the kN2
holds that x°77 Xn%™ &>

(2) the xn»92 also holds that there can be no 151 n217yn where one 129p is a
7190 and the other is a >73

ii) and the xn»92 teaches that because of the wwn of o°»yv n21wn it’s MoK to be
771% even a °73 and a 717v where there’s no wwn of P91 nawn

b) v n
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i) The x7mx accepts as a fact that there can be 11 n217wn even for 750 and >7a
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N{?'TI9n X121 NNOX "N

"D TMON RO 'R FIRT PR POTNTE WA 2 1TRD 9IER 12 K27 78N 17''72 'on
PR WO AR 2 B R'7TOURD 2P abn YR RITR w'NT70D AR DT AR Doy
TS RO 2R MNOR RO 2" RN PR 2R T NN T 20 KRR 7apn
229 1R 12 2R9T IR PR W 1T TRDD ORI NIS0IN MPoD W PaN "D 1IN v

IP'TY Y9IBR PR ORMT N1vpa
1) mooin as explained by X"wann

a) n"is pow that ®°n &N n X1 yet in large o°an it’s A to bake an and meat
R"7vWws at the same time

2) Twnn of moon according the xoma of R"wAin

a) It’s "nmm even to bake dairy w"11725 with meat X"7vws in large o>71n despite the
extra care that needs to be taken for 7772y npnnn by seeing to it that liquids don’t
flow from dairy to meat and from meat to dairy

3) Twnn of maoin according the xonx of mooIn *pod

a) It’s "mn even to bake dairy w"117%5 with an® in large o>n
4) R"wamn

a) xwp for the xoa of mpoin *pos

b) why is it more of a xma1 that in large o> n it’s 2 to bake w"1m»s with an?
than it is that in large o>21n it’s 7 to bake X" vws with an®
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TV T

Ml Dl T'NAI Xa'X YN T Xp'70 n"Th

"D R''57 17" 921 2900 ORI NWNDAT 23 BY ORI 12 X7 R'"70 772 [N 7MY 1Y 7]
7' PR A1 AR ORP KD 2MTYIMT YTIT WP WTR 2O "0 'R ORP NY
1909 K27 KDY 31909 KD 192p 327 N7 PP T00% MRl PPRAT 2990 D0IAR
N7 R'"'777 277 WODD RN TR DY RIP 20T 7702R N2TR MW IMTT RN
2UWHY 22 YaPIT 7' ROIRT YIP T JAT IORT 20 1R 2OTYIM ORD T
AT 2O9AT DDA KM YW R DD T KD v 21 KD 7Y pap1 K97
I NIPIART RAYY2 RNDXA NMDIAD 77920 9271 SN2 59 12T 1170 P1ap 19w 2van®
757 2207 D902 77 I5WY TR Y9 RUP 29NDTD Y1ap TV 1T PR R ava

T2'117Y 97O R INY 29937 PR 17199 1909 DR

2ARAR RIT NAWR PWH H''oY "2 ROP WD ISTRNY TN NAWR ORP KD 3''77 7'Na
DDA 2YIPITY FITIN WIDR RITIAT TR0 1TVIRAT RIP TIWER KD INTI NAW 00MT
29927 2R 2''92 JI9ARTD IN2WR NAW NI 29057 NaR S 790 Y9IBRY Nawa naw
51 NAWNR 2IPRA2 AOON STOINTY NI IRV 21 ROR TIAN 23 ITVIND TUIR KD
0D 2Y27¥T P2 WTITD 7192 PRI WTIN2 29NDT NMMAKR N5 2902 N1 IODT 2R
QDOTVIAY 1T ITVIMT QIR NI 1TVIART R TN TR 11'ERY oD B2 3o '
K97 R'"'57 702 DA TV AT P1APT ODIA PAINR RPN IRP KOT TODNK NP a1 77 RD

JITYIND TOWIN TODY AW 10D V72V DINMBUT TS TV AT 2P PR

29N27 7799 19097 79D RIPRT 2DITYINAT RIP TIVINR XD NI AODT D0 B2 ¥
2% NPAR 2°N5 MDVAY 2% NYAR A9 U TWN ananem nod van MMR 'oa
TYUAW PRT 71901 1131 29 YA WY FTORD 70D Y23 2515 D7D '5aY 'Y WK 12PN
MW ROR 2DITYIND RO TIWIR KDY N PMIT MY 70D D0 2"y naw Rha

R'TYRY 29927 R D2 3 NER IRDI I 111N 2T M nomn

1) mwn
a) DOWTNOWRD YW are axmva PR
2) X — 0 of the mwn

a) T2°x mi2p generally are xmwva X2 because the word "02>7v1m2" teaches 17%9x
TRMIVA 125K Nawa

b) Still I might have thought that 2w *wx2 *°Yw aren’t IXMIVA PRA because
"03>7y1m2" doesn’t appear for DWW WK 1YW

c) That’s why the mwn needs to teach that they’re ixmwa PR2 because "7v1n "R xp"
in 72°x refers to w7n M2y with the word "73n"

3) mooin
a) Xwp
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i) omd nwAo sets out o°17 for naw then for nn then for o>wn >wx~ > yw and
then for o> °001 and in the end says "02>7v1m2 '72 Wwyn 798"

i) So why do does the x7n3 say there is no 03*7vn2 for 2w WK MPYw
b) v n

i) D27y 1% wyn n9x at the end of the nwAo refers back only to 0°%31 *s0m and
not to n1127 mentioned before o°%37 *o01n

i) Here’s proof
(1) naw and 7nn are also mentioned in the nwAs that ends with 03*7v2

(2) Yet a xn» 2 says that for naw and 7n»n we derive that nawa 958 17912
and xm1v2a 1208 17w from a special 17vn2a that is said for each — and not
from n2*7v92

4) R"wnnn at Xrnk Ty ’pHo a7

5)

6)

a) first xwp

i)  Why not derive the rule for w1n wxa »yw from o°%37 *501 since both are
brought for 7795

i) Second xwp
(1) 3°9%° &% 772p 127 7N 12T

(2) So how do we derive the rule for wmn wxa *yw from "7v1 98 Rp" in
TR

b) 10 that’s different from the 7977 of mvoIn
1)  Were it not for the ?05 in 72X

(a) we’d have said that 0>>7312 doesn’t apply to w7 WX *°vw — not for
the reason proposed by maoin — but because o237 *s01n have a
fixed "73m" while w7 wi »yw don’t have as fixed a 73 because
wIn wR can fall on ™ o when there’s no w7 M12°y and on X"S ar
when there is w7in MW

(b) and it’s for the same reason that the 17 for w7 w1 9w can’t be
derived from o°%31 *501

ii) The nawn teaches that the m100 in 72°k proves — by way of &kn%°» "% rather
than teaching 770 »727 — that wn wxA is also considered 7v1a so that we can
derive the rule for o>w7r *wx1 *°yw both from o372 directly as well as
indirectly through o937 »vyw

ptay

a) We established that msoin says that for naw and 7°»n we rely the word 17v122 that
appears for each to teach that nawa 17°581 179122 and RPNV 12°OK 1792

R"wAan at on1om 7"'Ra
a) noRw
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b)

d)

i) What does mooin mean that for "naw" we rely on 17v112 to teach nawa 19°ox

(1) It can’t be that m»oin refers to naw oo because the 70 directs that
naw *»om are to be brought on naw

(2) It can’t be that m»oin refers to 7»n 1277 because we know that 7°nn is 27p
on naw directly from "nawa naw n?w" and in fact the vy for 7nn is used
only to teach that 7nn is axnw2 29p

laRb
i) The words in m»o1n need to be 73 to read 7nm nod in place of 7nm naw
TR

i)  Why for noo 129 can’t we rely on "7 >791 798 in 71mR nwao and on 03*7vnain
ono nwao to teach that oo 1297 is brought nawa 12%ox

W
1) These words refer to oo that have a fixed a1 and 791
i) noo 127p isn’t as fixed because o°Rnv bring "1 oo on a later date
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ATYIR 927 D' B oY 11D 0D 1ARPDT WYER R 0 MYWMR " D MINR"A 7"
TR " ATRY 202 PR M7 7ONMDD 2 DIPANT 12 MYIOR ' RITR 712 3900
N7 72 10 TRDWIRY IARY TMBTR RIT YIRW 32 K'Y RYTW NO7T XAMM2 T2
DR ' A 2057 DUPINT 2 VYUK ' RTI KUY 1APDT KNN2T R R ROIT

"=y 3A"'D2 TINADD N2

1) mnpa

a) In later 2>m2°7 the X210 deals in detail with the o211y of "nY%°oK v nxn %" and
"2 PRY 0 HY ax o7 v

b) but for this X"wann it’s relevant only to note that if 9wa XY *5 5y AR 07 ¥ it’s not
significant whether y>x is 1778 5y 7871

2) X ma here at .1y A7
a) ryHx " holds that y°x is M8 2y 73
3) R at.ny a7
a) oy ' disagrees with vy ' and holds that “wa pxw ° %y Ax o7 w°
b) xwp
i) Then why is it relevant for 71v°5x " to say at .1v 77 that % is m2°O8 ¥ 73
4) mooin as explained by x"wAmn

a) The "213°9) 1" to whom the &7na refers at .ny 77 can’t be yaw 12 T1¥9X " because
the “nx17o 92 of YwI° " IS 01PN 12 MYOHR " — Not YIAW 12 VIR "

b) And since the X there by its xwp implies that 913°9% ' in our X210 at .1y 77 is
the same as 71v°ox ' there it follows that our x°»0 at .1v 77 also deals with "
01PN 12 MR and not with yinw J2 AryHR "
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1) mnpn

a) At this point in the x>»0 the &7nx assumes that ywii° " holds each of the following
mow

i) v°xis axan only on PR DXnRY 70 nRew that count as "penn"

i) yxisn’t "nm°oK By nxn" — for example on X»vaw 127p W2 Or on AR W
IRNVIY

i) "07 PR w2 PR OR" — 7% 0 7% on RXav a7 only for awa that’s o*°p and is either
(1) v

(2) or for which the y>x was nxn for a 9nx7 3%n who says that y°x is 7%9 on
MK

iv) "wa px a7 PR ox" and "nan va"- if the o7 isn’t pan the w2 isn’t HoR1 even
if it’s v

V) nRm is Ma°ka anmn and isn’t 9mit — with the result that nvaw M12°% 1299
needs y°x "1x""

2) mwn
a) Nw™M

i) SWRT MPYWY 23X DV AN 0°197 O OnY N MY IRV 2°R2 0°027 Awnan
"1 W

3) R
a) ToRw

i) Since the mawn deals with x»vaw “wa and still says that the nia9p are PXa
xmva and the a7 is pan

i) Must it be that the mawn disagrees with ywy» 'y who says that
(1) "mP2x ¥ nxn PUx PR" S0 "wa PR
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(2) And o7 PR w2 PR OR

4) mooin at Pnvann k01 Ay

a)

Xowp

i) onbnonw is only an "a%°ox" since no part of ani °nw is a "°nn" that goes to
the mam

i) Now
(1) Since the mawn holds that y°x is ¥ n on ani *nw and ywr " holds that
MR DY 787 70X PR

(2) It follows that the 7awn couldn’t agree with Y@y ' on an1 °nw even if "
vy had held that qwa 1PRw " 5y a8 07

5) X"wamn at pooann ’n0 "

a)

b)

ToRY

i) Why doesn’t mnoin also mention 1=y which is presumably also only an 790K
and yet the mwn holds that y>x is 7x7n for amy

121N

i) We’ve established that the y»p of the 2w that is 2971 on the nam counts as a
°nn

6) Twnn of X"wan

a)

b)

TORY

i)  When does v " apply his rule that 2wa X o7 1°% ox even where the w2 is
mihie

ii) It can’t be that the rule applies where the o7 was ®nw1 since we’ve established
that the y°x is 7% on o7 so long as there is Mmv w2

v°n

1) There is no y>x »x» for o7 that’s 75w1 or 72k and it’s in that case that the rule
of 2wa R 07 X ox applies

Xwp

i) moown at 1aop "7 on "2 MY inanswer to a X*wp not relevant here answers that
there is no y>x "> for o7 was 7w or Tax

ii) If the basic 17 for yw 1 " of 2wa 1R 07 1°X ox also applies only to o7 that was
75w or 7ax then m»poin there would have mentioned this point

7) ®o0 of the mwn at :ny 77 on o>w7p other than nos 129p

a)

the o7 of M2°% *w7p is pan if the qwa is Xnw so long as 2% is o>°p and is 7w

8) mooin at ywr Mo RPT PRvInn R AT

a)

WP
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i) The x>0 of the mawn implies that the o7 isn’t P11 if the “wa and 2%n are both
Al

ii) It follows that the xo°0 of the m1wn does follow the mvw of ywi ' that 1R ok
o7 PR W2

iii) How can the &7nx even consider that the 7awn doesn’t agree with ¥ '
9) X"won at ywur Mo K97 X101 "7
a) Nwp
i) why doesn’t m»oin ask more simply that the x> of the mawn that holds that

Tw1a PRY °D ¥ AR 07 W isn’t consistent with the xo°0 of the miwn that appears to
hold that o7 7% w2 Px ox

b) note that

i) This isn’t a x>wp for the xipon of the x7nax that explains that ywi '3 can agree
with the nawn here as well as with a 7awn in mnan that apparently disagrees
with the mawn here because the mawn here deals with 112°% 1297 while the mawn
in mnman deals with 10 1290

i) Because we can use the same y17°n to explain that the xwn of the mawn deals
with m12°% 129 while the x5°0 of the mawn deals with 7 1297

10) qwnn of the X
a) Tawn

i) The mwn regarding 2% "n5w *nar and oown "wx »vw can follow ywir "
because the mawn deals with where there are "Pow"

i) The o°vo of this 72wn aren’t relevant here

11) Below at "mw 117 *"w" we’ll analyze the further qwnn of the x>0 where the X na
considers whether the 7awn can follow vy "1 also for °my and ann snw
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TV Q7

"D NN'X DN ' XA

a7 RTIAYAY 901 2R N0 INRT KT 090 779910 RAOR 7R ROAA [2 7w 1Y 0T
SN TIRR RPT R 1D RAP IR PN TORA KOT RAOR 200D WD ORP N PR
Q27 PRT ROTT IWIT 0 77910 779 0PI TOWS TIAAT 2TIT R 2IRDWDY YD ORP
NP 719 2N 710 1""Pa RINRT RNPRT R72 R0 201 277 PR 7Y 995K NN
ARk o)
1) mnpn
a) We’ve established that vy ' holds w2 X 07 1R R 27 PR W2 PR OX
b) =139 ' disagrees and says 07 PRW D DY AX W2 WA PRY %D 7Y AR 07
2) X
a) DORN WM TOW PRI 0T QTN WIAT TMAW W
3) X
a) ywr " derives that o7 PR w2 7R O
i) for a9w 1290 from o7 Wwan W nww in the beginning of the oo
ii) for on%w from %oxn awam Tow° rar on at the end of the o
b) rwHR '
i) derives awa pRw 0 Yy ax 07 both for 77w and for o>n%w from oW 9°n2a1 A7
ii) and derives from %axn awam that awa can be eaten only after 7p>7r and

(1) although the 17 that =w2 can be eaten only after 7°7r can anyway be
derived by mm 5p

(2) still x7p 7% 201 v 1"Pa RINRT RNDN
4) R"wan
a) Nwp

i) Maybe ywine ' derives 07 1R w2 PR ok from o7 wan My nww both for
77w and o nbw similar to 19X ' who derives from 9aw° 7°nar oam both for
72w and o°nbw that awa PRY 90 By Ax 07

ii) And from %oxn qwam Jow° °nar a7 - ywir M derives the same rule as 21oR '
namely that “wa can be eaten only after 177 and

(1) although the 17 that =w2 can be eaten only after 7°7r can anyway be
derived by mm 5p

(2) still x7p 7% 2021 770 1"P2 RONRT XN2N
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MYIOR BY 7IR0% PO 0 NIRRT R0 KL "D 2 nw W 772 "'wana
nR 27 20 90 RIT RO NMDIOR DY IR0 PR PRI XD D0 T iR Doy "o
TR PORTT RNYN22 DD R0 5D ROITIAT MRP RURIPT KUK W2 PRY D Y

9"y an 2% RN R'R M1 7R XTI 9D "2 19D MR By

B''op 737 RDT DD JIRY "2 R PRI R0 UTORT 9" 12 Ruws RN 17''72 'on
IR 287 9910 927 R2OK IRTY N7 779190 950 0[] 717 Rin ROON 9% T5nb o) Ro77

1)

2)

3)

4)

5)

6)

A - al
First 7a7pn
a) Review the m2°7 at ¥y "3 K97 PRoann R ™0
Second 7P

a) 7oK " holds that ¥ is n¥an on Mm% ox and that "(m>°ox) Twa k%2 (k) a7 v
and "(1°nn) 07 X223 (M) wa v

7w
a) mw and ann°nw are included in the 72°% n11a1p that are axmwa PR
Rplah

a) Nwp

1) Although we established at 1°n>1nn ®°1 7"7 that the mawn regarding o°nar can
agree with vy ' based on "py"

ii) Still the mawn regarding 1w and on%n *nw doesn’t agree with vy "

iii) Since where amy or an%i *nw were Xnwv1 the yox¥ isn’t MR Hv ¥ n — for
example on n» *7»w and on%i nw — and Yw "M is °nan *va so that PR ax
1°7°N7 TR NPOR

7]

a) Note that the mawn is consistent with qrv°%x ' because he holds that y°x is %y nxn
m>°ox so that the anan *»>w of 9mw and the on%n *nw are treated as if they were
never xnvi

R"wmn at mw a7

a) ryoxr " also holds that »o 5y AR (M2°0K) w21 (M°IR) w2 PRY %D ¥ AR (1°71°Nn) 07
(Pnn) o7 PRY

b) It follows that

i) toexplain why 2rv°5% "1 could agree with the mawn on 2w where the ynip
counts as "o71"

ii) >"wn could have relied on the nww of 219K ' that qwa PRW 0 Hv A% 07 even if
719K " had held that n19°ox v 7397 7% PR
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iii) But >"wn prefers to rely on the vow of 71y°5x ' that o is 7% on m»°ox
because this is the 727 of a xn>>92 and also because this 7777 also explains
why onn nw is nxmwa 27 even though there is no o7 or ymp altogether and
there is only an 7%2°0x

7) Twnn of the
a) y1non why the mawn can agree with vy ' on W

i) ywr " says *nan va —both a7 (°nn) and awa (MoR) — for o°nar but not for
mnn such as amy where the y»p that counts as 1°7°n» is enough and there
needn’t be mn »7»w that count as m» oK

8) mooin
a) Note by the way that this y17°n doesn’t avail for an»i snw
9) Twnn of the X
a) Nwp
i) then why does a mawn in mnan say that "vwr ' n7ond 79100 1w wnv"
b) v n

i) The xin of the 7awn in mnan agrees with the main point of ywy ' that j1°v2
NN

ii) But
(1) unlike ywim» " who applies this rule only to a°rar and not to mman
(2) the xan in mnan noon says *nan j°v2 also for minan
c) wwp
i) we don’t find a x1n who follows this nv>w and is 2°nrn more than ywyi '
10) wni1 of the X
a) y™n

i) the 7awn here can follow the fv w of ywyi» ' both for o nar and for mnan
because ywin " actually holds that y>x is ¥ on m>°x

(1) so that for amw there is °nan
(2) and for an®a *nw the 27 is the same as onn *nw that was never xnv
b) first x>wp on the y11°n that vy ™ holds that yox is 7xn on MK

1) We still haven’t answered why the 71wn in mnin noon says that 2w Rnv1
7100 because of the 777 of ywi '

11) msoin
a) Nwp
i) why doesn’t the X773 answer similar to what the X223 suggested earlier
i) the xin in mnan
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(1) agrees with ywy " that yox is 7% only where there is °nan
(2) But he disagrees with yw 1 ' and says m2°o8 2y 7% 7% X
12) X"wonn at Rowo ROR 7"7
a) Nwp
1) maybe the &1 doesn’t give this answer
(1) because of a reason similar to the reason the & nx offered earlier namely

(2) we don’t find a X1n who agrees with the rule of yw13» ' that °nan j3°va and
who then goes on to be 7°nr more than ywha ' to say that v 7xm pox PR
MoK

b) v n
1) This can’t be the reason the X3 doesn’t give this answer

i) Because the x7n3 establishes that *o1 " is just such a xin: *o1 ' agrees with '
yw i that °nan j1va but unlike ywy ' holds that nY9°aR %9 %7 7% PR

13) qwnn of the X
a) Second x°wp on the y17°n that ywi " holds that % is 7877 on M9oR
i) A xn>»nasays directly that vy ' holds that n1%2ox 5y 7xn o8 PR
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A ARERLAY

1) mmTpa

a) At the end of the prior m12°7 we hadn’t yet explained how the f1wn on 22w and
on>n >nw can be consistent with w7 "

2) Twnn of the X ma
b) 10 on why the mawn can follow the vw of ywir '
i) ywi " requires *nan only 7%mn3%
(1) The mawn here that that says the 1277 is 2w> deals with 727

(2) the mwn in mman that says yw1> " na the amn 3w is 7200 deals with
monno

il) proof is that vy "3 says in a Xn>>72 that 72372 78717 P77 OX
c) two nrwp
1) first xowp
(1) "A09" in mman suggests that nnan *>w are 9100 even 727
ii) Second x*wp

ur mawn speaks in terms of axm 2" oMaTn and from the wor
1) Our mwn ks int f v2 "PRa" o2 nwnn and f th d
"pR2" it’s ynwn that the 7201 is a0 even 737700

3) ~"wn and mooin disagree on the y17°n of the X
4) yrvn of the &9na according to »"wn as explained by R"wAmn

a) In fact ywine "1 holds that m°ox v 7% yox 1R and the mawn here can still follow
ywI " because the mawn here deals with 712°% 3299 and ywye " holds 71017 AR
T2x2 and no y°x "¢ at all is needed for a 712°% 1297
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5)

6)

7)

8)

b) While the mawn in mnan deals with a 7> 129p that ®n»2x%77 does require y°x "3
and since yw1° "1 holds that m2°5x ¥ 7% y°% X there is no °nan and that’s why
the 329p in mimaa is 79109

c) Nwp

1) Then why does the xn»92 say that 72y>72 the 1299 is 7w> where 2wa xnwv1in a
case where y°x "% is needed — namely for a 7r 127p

d) y»n

i) Although y>x "% is needed xn»x7 for a 7°n° 1297 it’s not 20V
X"won at o2 't
a) Nwp

i) This y1°n doesn’t answer the first X°wp of the ywpn earlier that the word 79109
in the mawn in implies that the 127p is 7109 even 72v°7

b) v n

i) The ywpn realized all along that his first x'wp was weak because he knew that
YW "M IS 72v°7 wan from the Xn»92 where he says 7717 P71 o

ii) Instead the Jwpn relied on his second x>wp that the mawn uses a > of 75nna%
v171°n of the xa according to mooin at Xwp X7 &7 "7

a) In fact yw> "1 holds that 112°x2 a7 axmw and still our 7w is 777032 2onn for
YW " because we now accept that ywine " disagrees with *01 '3 and says y°x
m>°R Yy ¥ so there is °nan — both o7 and wa

b) The xn>1a that says for ywy ' that n%°oK Sy nxn % R deals with a 7 129
based on a 131277 701 that applies 75055 to 7r° 1297 and doesn’t apply to 127p
2%

Twnn of the xnx as explained by R"wann at X9 &7 a7

a) >0 " holds that m2°%a 7 A and that MoK Yy 7xn 7% PR and pog e s
needed xn»1x7 for M2°x 3277 as well as for 70 12p

b) -0y ' can still agree with the 7awn because the miwn deals with 7ay>72 and the 17
RN*TIRT isn’t 20¥» — similar in part to the mvw of >"wA

Xipon of the Xna at '2 7y based on nvown at 77m °2 "7 and R"wAan at 37 00 "

a) ywir " holds that m12°x2 an7in axmw and still the mawn says that xnwaw 1299 is w>
because y°% in mM%°2x ¥ 1171 S0 there is *nan and 1127 aren’t TM3 any 77°m for a
M2°% 127p — this is consistent with the v>w of mooin earlier

b) But

i) Since °nan 1°va and the an°i is based only on the mvw that y°x is %7 on
MR

ii) It follows that if the qw2 was qwa or Tay the 127p is 2109 because there can be
no y°x¥ »1¥>7 for m7°ox that aren’t o>p
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